* SAG SHALL NOT BE LESS THAN 3%
OR MORE THAN 7% OF SPAN LENGTH

5/8" THIMBLE EYE NUT (2.5”
GALV. CURVED WASHER REQUIRED)

SIDEWALK WOOD POLE (TYP)
DETAIL 5/8” THIMBLE EYE ANGLE
S BOLT (2.5” GALV. CURVED
PREFORMED DEAD END WASHER REQUIRED) SEE
OR STRANDVISE DEAD CABLE HANGERS STRAIN CLAMP DETAIL
] ATTACHMENT (TYP)
SAGF - PREFORMED DEAD END
\ OR STRANDVISE DEAD
AN 5'-0" END (TYP)
INSULATOR (TYP)
DEAD END 3/8” SPAN WIRE
\_ |- 3=
BREAKAWAY "S” HOOK / 3/8” GUY
EVE BOLT WITH NUT & 1/4” TETHER WIRE WIRE (TYP)
CURVED WASHERS
., < > PREFORMED
2.5"7 GALV. POST PLATE < < 33 DEAD END OR
8'-0" GUY 1-5/8" MACHINE BOLT Eh -— MIN STRANDVISE
GUARD 2-3/8" x 4" GALV. o™ DEAD END (TYP)
LAG SCREWS - o
\2.5" GALV. STEEL PIPE S o
2.5” GALV. GUY

CONNECTOR END

CROWN ELEVATION
FITTING [

-

8” 3—WAY EXPANDING
ANCHOR (135 SQ. IN.
EXPANDED AREA) (TYP)

5/8” THIMBLE EYE
ANCHOR ROD (TYP)

DIG OR BORE A HOLE OF AS SMALL A
DIAMETER AS PRACTICABLE. AFTER
ANCHOR IS IN PLACE BACKFILL SHALL BE
PLACED IN LAYERS NOT TO EXCEED 10"
IN DEPTH & THOROUGHLY COMPACTED

NOTES:

1. HARDWARE, INSULATORS & ANCHORS
ARE TYPICAL FOR BOTH GUYS

2. BREAKAWAY CONNECTIONS ON TETHER
WIRE TO BE APPROVED BY ENGINEER PRIOR

TO INSTALLATION
SPAN WIRE
DETAIL

dah
\_/

S
N

9/16" DIA. EYE

STRAIN _ CLAMP
DETAIL
FILE NO.: 16570—041 CEDAR RAPIDS METROPOLITAN AREA
APPROVAL DATE: APRIL 2003 STANDARD DETAILS FOR PUBLIC IMPROVEMENTS
REVISION NO.:
i TRAFFIC DETAILS NO.
SPAN WIRE 16570—041



AutoCAD SHX Text
TRAFFIC DETAILS

AutoCAD SHX Text
SPAN WIRE

AutoCAD SHX Text
FILE NO.:  16570-041

AutoCAD SHX Text
APPROVAL DATE: APRIL 2003

AutoCAD SHX Text
REVISION NO.: 

AutoCAD SHX Text
REVISION DATE: 

AutoCAD SHX Text
16570-041

AutoCAD SHX Text
CEDAR RAPIDS METROPOLITAN AREA

AutoCAD SHX Text
STANDARD DETAILS FOR PUBLIC IMPROVEMENTS

AutoCAD SHX Text
NO.

AutoCAD SHX Text
STRAIN CLAMP

AutoCAD SHX Text
DETAIL

AutoCAD SHX Text
9/16" DIA. EYE

AutoCAD SHX Text
PREFORMED DEAD END OR STRANDVISE DEAD END (TYP)

AutoCAD SHX Text
DIG OR BORE A HOLE OF AS SMALL A DIAMETER AS PRACTICABLE. AFTER ANCHOR IS IN PLACE BACKFILL SHALL BE PLACED IN LAYERS NOT TO EXCEED 10" IN DEPTH & THOROUGHLY COMPACTED 

AutoCAD SHX Text
WOOD POLE (TYP)

AutoCAD SHX Text
5/8" THIMBLE EYE ANGLE BOLT (2.5" GALV. CURVED WASHER REQUIRED) SEE STRAIN CLAMP DETAIL FOR STEEL POLE ATTACHMENT (TYP)

AutoCAD SHX Text
SIDEWALK

AutoCAD SHX Text
DETAIL

AutoCAD SHX Text
PREFORMED DEAD END OR STRANDVISE DEAD END (TYP)

AutoCAD SHX Text
* SAG SHALL NOT BE LESS THAN 3%   OR MORE THAN 7% OF SPAN LENGTH

AutoCAD SHX Text
3/8" SPAN WIRE

AutoCAD SHX Text
1/4" TETHER WIRE

AutoCAD SHX Text
DEAD END

AutoCAD SHX Text
INSULATOR

AutoCAD SHX Text
BREAKAWAY "S" HOOK

AutoCAD SHX Text
EYE BOLT WITH NUT & CURVED WASHERS

AutoCAD SHX Text
CROWN ELEVATION

AutoCAD SHX Text
3/8" GUY WIRE (TYP)

AutoCAD SHX Text
2.5" GALV. STEEL PIPE

AutoCAD SHX Text
2.5" GALV. GUY CONNECTOR END FITTING

AutoCAD SHX Text
2.5" GALV. POST PLATE 1-5/8" MACHINE BOLT 2-3/8" x 4" GALV. LAG SCREWS

AutoCAD SHX Text
8'-0" GUY GUARD

AutoCAD SHX Text
8'-0" GUY GUARD

AutoCAD SHX Text
5/8" THIMBLE EYE ANCHOR ROD (TYP)

AutoCAD SHX Text
CABLE HANGERS ON 12" CENTERS

AutoCAD SHX Text
PREFORMED DEAD END OR STRANDVISE DEAD END (TYP)

AutoCAD SHX Text
8" 3-WAY EXPANDING ANCHOR (135 SQ. IN. EXPANDED AREA) (TYP)

AutoCAD SHX Text
NOTES: 1. HARDWARE, INSULATORS & ANCHORS ARE TYPICAL FOR BOTH GUYS 2. BREAKAWAY CONNECTIONS ON TETHER WIRE TO BE APPROVED BY ENGINEER PRIOR TO INSTALLATION

AutoCAD SHX Text
DETAIL

AutoCAD SHX Text
SPAN WIRE

AutoCAD SHX Text
5/8" THIMBLE EYE NUT (2.5" GALV. CURVED WASHER REQUIRED)


	Sheets and Views
	Layout1


